M.A [Part -]
ECONOMICS

Micro Economics | S
(Paper_ |) (May_201 7) QP Code : 67339

(3 Hours) [ Total Marks : 100

N.B.: (1) Attempt any four questions.
(2) All questions carry equal marks.
(3) Figures to the right indicate marks.

1. (a) Explain how the indirect utility function differs from the direct utility ~ 13
.function and state and prove the properties of indirect utility function.
(b) Making appropriate assumptions prove the existance of the Neumann- 12
Morgenstern utility function.

2. Explain—_ - | | 25
(a) Kalecki’s degree of monopoly theory of distribution.
(b) Duality of cost and production function.

3. Discués - | 25
(a) The Cournot model of duopoly. '
(b) Bertrand’s model of duopoly

4. Explain - 25
(a) Signaling and screening.
(b) Principal-Agent problem in the context of production games.

5. (a) Describe the basic principlés of welfare economics with the help of 12
~ box diagrams. : '
(b) Examine the notion of uniqueness and stability in a system of markets. 13

6. Explain :— o ‘ 25
'(a) Roy’s identity. ‘
(b) Externalities.

7. Write notes on any two :— - : 25
(2) Minimax theorem . '
. (b) Homogeneous and Homothetic technologies
(c) The Slutsky equation’s"relatibn to the Hicksian and the Walrasian
demand function.
(d) Price discrimination under monopoly.
. () Normal and extensive form games.
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M.A [Part -]

ECONOMICS
Macro Economics

(Paper- Il) (May-2017)

QP Code : 67413
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% (3 HOUI'S) [ Total Marks

N. B. : (1) Attempt any four questions.
(2) All questions carry equal marks.

Explain any two of the following :—
(a) Balanced budget multiplier
(b) Transmission mechanism

! (¢) Endogenous growth theory

Explain any two of the following —
(a) Permanent income hypothesis
- (b) Topin’s portfolio theory of demond for money
(c) Money multiplier

Write an essay on inflation, expectations and the aggregate supply curve.

Discuss any two of the following :—
(a) Automatic adjustment process
(b) Exchange rate overshooting
(¢) Exchange rate intervention

Write an essay on Lucas critique

Explain any two of the following :—
(a) Rules versus discretion
(b) Activist policy
(c) Debt management policies

Write short notes (any two) :—
(a) Equilibrium in IS-LM model
(b) Instruments of monetary control
(¢) The Polak-fund model
(d) Mankiw model
(e) Role of credibility
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Agricultural Economics

M.A [Part-1]

ECONOMICS Q.P. Code : 09793

(Paper- 1) (May-2017)

[Time: Three Hours]

Q.2

Q.3

Q.4

Q.5

Q.7

Please check whether you have got the right question paper.
N.B: 1. Question.No.1 is compulsory.
2. Answer any three questions from remaining six.
3. All questions carry equal marks.

Write notes on any three of the following.
a) Engel's law
b) Nerlovian Model
c) Buffer Stock
d) Backward bending supply curve
e) Determinants of wage rate
f)  Analysis of rural classes

[ Marks:100]

a) Explain the concept of food security. Suggest government measures to tackle the problem

of hunger.
b) Write a note on Public Distribution System in India.
a) Discuss the Cob-Web model.
b) What are the factors affecting supply of farm products?

a) Explain the behavior of rational farmer with respect to product-product relationship.

b) Explain the behavior of rational farmer with respect of Factor-Product relationship.
Examine the role of the following in rural credit:
a) NABARD
b) Co-operative credit societies
c¢) Commercial Banks
Answer any two of the following:
a) Features of agriculture labour market in India.
b) Explain any one method of measurement of unemployment.
c) Explain gender based discrimination
Answer any two of the following:
a) Explain Cheung’s theory of share tenancy.
b) Discuss Market Interlocking and Interlinkages.
c) Features of Indian Markets.
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Please check whether you have got the right question paper.
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M.A [Part-1]
ECONOMICS

Industrial Economics
(Paper- 1) (May-2017)

Q.P. Code :11579

[Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.
N.B: 1. Answer any four questions.
2. Figure to the right indicate full marks.

Q.1 Discuss Game theoretical models to explain oligopolistic market conditions. 25
Q.2 a) Write a note on sensitivity analysis. 10
b) What are the sources of industrial finance? 15
Q.3 a) Explain welfare effects of monopoly power. 15
b) Explain why there is a need for coordination of different policies for effective implementation of 10

industrial policy.

Q.4 a) Explain the Dorfman —Steiner model of advertising. 13
b) Write a note on Asymmetric information. 12
Q.5 a) Explain the Entropy index. 12
b) Explain the Hirschman —Herfindahl index. 13
Q.6 a) Explain the role of SSlin indian economy. 12
b) Examine the Weber’s Theory of industrial location. 13
Q.7 Write notes on any two of the following: 25

a) Stackelberg’s duopoly model

b) Inflation accounting

c) Hoteling model of product differentiation

d) Meaning and causes of industrial sickness in India
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9.2

q.

9.3

9.8

9.9

9.8

Y.b

Q.P. Code :11579
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Please check whether you have got the right question paper.

AT ¢ TTOeIdehl HIUTAET TN 2= |,
R IordIehgiel 3eh FRAT YT 0T Eifddrd.
3. TS H SIS YeAUfIAT  ggrd.

U JTRUSTAT 37T TS HUITS B dgiias Yfaaamy a7 .

37) e Taeevomay &9 foig.
9) 3P faca Tdid FIva 3meda?

37) AFAGRITAT dlehed heAUThRT JHTd TISE . .
) 3w URUTAT  FHTAT IFHAASSIGU TSN ddTedl YRUMAT GHeadrar
IR FT 3Tg § TISC .

31) ShAe- TEHAIRT SRR dcdel FTiHTT TIST .
) fawH Arfgey &9 forer.

37) vgrdrar fadens Fase .
d) gYH - gXfhaerar fadanes TIse &

3) ARAT  HITTEIALY T3S BT TISC .
9) davar Jiefe FaefARader Rgia v &

GrelleTddhr HuTTEr grgiat fear forgr.
TEHIIIT A HRT giaATT
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